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B. Tech.

(Semester-I) Theory Examination, 2012'13

ENGINEERING MATHEMAIICS-I

Time : 3 HoursJ [Total Marks : 100

Note : Attempt questions from each Section as per

instructions. The symbols have their usual meaning.

Section-A

Attempt all parts of this question. Each part

caries 2 marks. 2xl0:20

1. (a) lf y=x2.expQx), determine(yr)0.

(b) Find the radius of curvature for the curve

s = log(tan r4r +secry) + tan\ysecy, where ry

is the angle which the tangent at any pont to

the cutve makes with the r-axis.

(o) lf u(x, y)=(li*J-yY, find the value of

(r#.,*#.n#)

(Following Paper ID and Roll No. to be filled in yourAnswer Book)
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I o t+2t1(c) Ir N=[_r*2, o _] 
is a

show that (1-NX/+trQ-l

matrix, where 1= [1 9l
L0 1l

matrix, then

is unitary

53,0001106 (8)


